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In which graph does the shaded region represent the solution set for the inaquality
shown below?
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Which expression is equivalent to (x + 2){3x - 3)?

A -6 X @

) 3x2 + 3x - 6
3x2+ 6x - 6 2 L A

X+ 9x-6 _4 m%_\_%
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Questions ¢ and 10 are gridded response items that require you to write your
answers in the boxes provided on your answer shaeet. Write only one number or

symbol in each box and fill in the eircle in 2ach column that matches what you
have printed. FIll In only one circle In aach column.

9 The total cost, In dollars, of membership in a fithess center Is given by the
function c(m) = 20/ + 40, where g is the number of months a person is a
member. In dollars, how much is the cost of a _..._m_....amam__u for 1 Nmmqv i

12 M)
(0 D) 0
TUQ

XX = o=

oA

xwww+mc

y < 1,200
¥y = L850

¥ N.wx +20

y < %x+80

x > 1,200
x < 1,850

I}

Iy

Sally works at a store.

X represents Sally’s monthly paycheck, and y represents her
manthly savings.

Sally will save at least $20 more than half of her paycheck each
maonth. ¥z 20t xX

She can save at most $80 more than two-thirds of her paycheck

each month. J\ m %0 + N\.@X .
Her paycheck each month is at least $1,200, but no more than

$1,850. 7 xv 1200

Which system of Inequalities represents these ocm% j&w X .nn _ £50

_\+uo

o
=]

Bt = d{pa pap
=
+
3 ) R,

o M

x =Ly +20

kmwv\+mo

y = 1,200
¥ < 1,850
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50 . The table below shows the hours, x, spent werking on a new road and the 16 A statistician collacted the following data to explore the _,m_mn_o_._m_.:u cmnsmo_._

; . two variables, x and y.
distance, y, of finished road. . f&c&» %.iﬁm (%% w%—%ﬂg
_ (re MY

ﬁm“,._”_mu &ﬁw _ 2.3 E.a 1. 4% -43%
50 #x 4.2 16.5 Vo, 455
200 96@ 5.1 19.2 1%, 807
a4 6.4 23.1 ﬁ. 1%
% o
24.7M4

The statistician performed aflinear regress _ _ _on_,.mu the residuals.

ian decided to exclude one data

P vesidual velice
. (6.4,23.1) Obscrved — \Q%&«.Qh@x
AmMMA.ww

This is the end of the NC Math 1 released items.




U~ = A=
N~ A9i~
ht X01 = W+ X~ fy,

N £ kA '3
¥+ %07 = xp - (g +a_&m“m%..w4
© EMOiBY UMOYS :oi%ﬂﬁﬁmﬁ%wuo anjea auy sl jeUM BT
b

¢ Al

}

=  imo]oq 3)qey

91 UL umoys s3uod oY) ybnaolyy sassed jey) ug(pun) Jjeaul] ay3 jo dedsju-A oy
ucn&xn + ¢ = (X} 4o 1de0iaiul-4 By USAIMIBY ‘SIUR UL DRl sl jeyy 8T

“HLINO2 Youes U] B3> euo Ajuo ul Jii4 -peaupd Baey
noA jegm seydiew ey uwnjoo Yoee Ul 312410 9y3 i [ pue Xaq 1oea W1 joquiAs
A0 JequInu suc Alua )M “JODYS JSMSUR JNOA uo PRRMACITD S3X0q IYI Ul SIDMSUB
dnod 33Lim 03 nod aumnbag ley; swe Isuodsas popplb I 6T pue g1 suonsand

e

nw_, A -eseauep yiog I xiEpa ucm\...".._p_mmE Syl X

M“ i
“awies iy LiBLLDI 1w uETrewr au) pus'asea i m uesw oy @

"IELDIDIP M _mm_u.mE ayy pue mmmmmul_._:_,ﬁzi ueawieyl g

258913 430 lnwy/lipaw pue uesw ay) v

¢195 E1RD 3U] 01 PODPE SI & 40 Juiod E1ep YIUBY B4 3N 5| w,;um_ﬂsm YoIumM

664601 ‘2T 1T ‘8
| ]

"MOI2q Umoys st siulod mepauu o les Yy /1

.r[\}




20 This is a paper/pendil copy of an online technology enhanced item. " 22 Adub began with 3 members. Each month, each member brought one new
: member. Which function can be used to determine the number of members
x months after the club began?

Three zystems of equaticns are shown 'n the table below. nyﬂ @
Placa (dick and drag} tha choice that desciibes the number of solutions of each system inta the appropiate 9 b
column In the table helow. V. ) =3x+1 | 7
alk eolechonr no <0lihee ¢ for=Lsey 2|2
b byl 522 () -5 m

2%+ 2y =18

Z{zx+2y=8] % N}.m =12

ax + 3y = 27 4% 4 4y = 16

21 Which equation repre ___._m that is pf 3 to the graph
of 4x + 3y = 9 and w%,mmé witth (- N 3)?
P Ay .
_._‘K ._\ﬁm -mx+ T
C  x-4y=-6® _ .v = 1fm. ._Ln_. = m\m.m..mv +b
D 3x+4y=6 mul_m.:u

..i_& _
e mk_. b=4.5

;En St + %)

:w =3 + 1Y (.
mxs o =-1% , ,
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26 Which choice could be modeled by a finear function?

A

the amount of money, y, in an account after x years earning 4% interest
compounded annually

the monthly cost, v, to use a cell phone for X minutes at a rate of
4 cents per minute

the height, ¥, of a ball after bouncing x times, if each bounce reaches .w.
the previous height

iy,
the amount, y, of radicactive material remainiz; m#mwxx years when decay
occurs at a rate of 30% each year ?@ {&m

27

During which w:_“m_.cﬂmm._u t._m

Cscar planted a tomato seed in :_m garden. Each nm< he recorded the helght of the
tomato plant.

Growth of Tomato Plant
¥
10
9
B
7
u 6
55
3
N oz
. 3
2
1
0
2 4
f

#ato plant grow the fastest?

bay 4 to %m .%e

Day 8 to _um.‘.,._.q g
Pay 10 to Day 12
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31 The table below shows the U.S. average life expectancy at birth, in years, 32 The choices _um_os_ are data sets. In the cholces, w is a constant. Each choice jmm
in vartous n_m_nmn_mm. ? P i Y * the same mean. Which cholce has the greatest standard deviation?

e ——
ﬂ‘&,ﬁ) w-Zw-1l,ww+1 w+2
. Life _ - -
4&“%&:% mnvﬂﬂnnﬂq-ﬂq at em W N- w N~ W, W+ N‘ w+2 &.&*\ D Q T—% g“
Birth | mvm“@ Wo3W-Lwwtl w3 obhey ¥

. 629 _ 1.

68.2 1
69.7 i

/ M W3, W, W, W, W+ 3

33 Abby scored 87, 93, 96, mnn 8% on her first four hi

tuizzes?

B

94

c 98
b 100

! m_._Q mn birth In 1930 was about 62.7 years.
B . The predicted m«%_.mamsmwm«mxwmnnmzﬁ at birth In 1930 was about 57.6 years,
C The m<o-.mhm&mm mum.wmhmm:nw st birth increases by about 6.7 each year.

@ The me.memM ﬁww_umnﬁng at birth increases by about 0.2 each year.
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37 The table below shows the number of hours 7 students studied for a math test and

the grade each student earned on the test.

o

How does Amanda’s test score
best-fit model of data for a stugnt ﬁ

1n:.qm Test
Student m_nﬂ_uu_mn_ n-...ﬁm_.\.w_m %ﬁ%
Mary 2.00 ge | 8b.%4
Jonathan 1.75 86 |€5.99(
Susan 2.00 &le.89
Terry q47.0%
Patrick u. ¥
Amanda mg
Darlus 2% ..
i &.a%

o e
par score predicted using the linear
tudled 3.50 hours?

WA Amanda scored abolt 5 vm_ﬂmwwwﬁﬁmﬂ than the score predicted for a student

who studied 3. mc :

W\/ Amanda scor

who mEa.m.

umnn %J .Emaﬁm _.._n:m_. than the score predicted for a student

D Amanda scored about 2 peints higher than the score predicted for a student

who studied 3.50 hours.

39 Two E:Q.o:m%&ﬁﬁ’ helow.

38  This is a paperfpendll copy of an online technology enhanced item.

Placs (click and drag) one eption from each of the lists below Into Its correspol
cresiz an equation of the Hne that passes through tha point (1, ~10) and is

yeThxese J o g =mx+b

%}Wﬁﬁ%ﬁu |

Xx)=3x+7

(5,22)

What is the value of x where the graphs of f{x) and g{x} intersect?

g{x) = 2x + 12

A “22
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42  The table below shows the sma_ﬁ of 8 different bears at a z0o, -43 . The vertices rectangle are located at {1, 2), {5, 0), (2, 6), and {"2, "4).
What is thefarea pf the rectangle?

Type of Bear ﬁwmmwmﬁ__.mw 20 square units m.j h %
Asialic Black Bear | 225 o %:“ Q 30 square units m _ _“U
v Black Bear 300 Eﬁ - ‘N& 0 35 square units
Brown Baar 550 .mNu = 49, @M\ - D 45 square units
Panda Bear 200 | 12w
1  u - &WO Eil
Polar Bear 1,000 ww:g%_. - 44  This is a paper/pencll copy of an online nmnszn_om«w%_‘qzﬂ_nm

Sloth Bear
Spectacled Bear ,
Sun Bear ﬂ”@
Sy, Bd
If the welght of the polar bear _wﬂ__mac%éz_nj statement Is true?
@ The mean decreases mo _

L% Y= 114.% Sefsct: (click) each situation that can be modeled with a _Smm..%wm%f

median because the polar bear is 2 high

,\ﬂ_ alrplane fying at an altituda of 33

outlier, . 00 feat B n_u at n rate 20 fant per minute.
M@ 1% plzza restsurant charges §5.50 # ﬁ o Ef for each additional topping.
B The mean n_mn_. %,.w_ mw_&m: tha medlan because the polar baar Is a high
outlier. wm@w. o=
= u~|

C  Theme %mm aséisifore than the median because the high value balances
the low ¥ Aw_ e

D The mean a%m_.mmmmm less than s._.m median because the high value balances
the low value.
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47  This is a paper/pencil copy of an onfine tachnology enhanced kem. . 48 A rectangle has a perimeter of 54. :L\

Place (click and drag) the data sats below Into the eppropriate rews in the table, +  Letxequal the width of the rectangle. A k-¥a \K

. Let ¥ equal the area of the rectangle.

m.\-
Which equation can be used to find the area of the rectangle? m
Symmetric about the Mean |

A y = x* - Gdx

B y= x>+ 64x
Skewed Left

y = x* - 32x

Qv\|.x~+u~x

49  What is the :.__n_ua_:n of the _n:ammn side n_ﬁwwﬁﬁ

Skewed Right

A (1, 1)
(2,4
{2, 5)
(3. 5)
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